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BC ABG G B= ± + ∠ = − + =o o o o o180 125 180 141 86  

CD BCG G C= ± + ∠ = + + =o o o o o180 86 180 88 354  

)5/0(sin sin /X X L GB AB AB AB= + × = + × =500 30 125 524 574o  

)5/0(cos cos /Y Y L GB A BA AB= + × = + × =300 30 125 282 792o  

)5/0(sin / sin /X X L Gc B BC BC= + × = + × =524 574 42 86 566 471o  

)5/0(cos / cos /Y Y L Gc B BC BC= + × = + × =o282 792 42 86 285 721  

)5/0(sin / sin /X X L GD c CD CD= + × = + × =o566 471 51 354 561 140  

)5/0(cos / cos /Y Y L GD C CD CD= + × = + × =o285 721 51 354 336 441  
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